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FORENSIC SCIENCE
PAPER—-1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

Following is a physical evidence :
(A) Suspect’s foot wear (B) A written statement

(C) Body fluids (D) Suspects appearance

Forensic scientist is exempted from appearing in the Court of Law under section :
(A) 75 Evidence Act (B) 293 Cr. P.C.

(C) 302 I.P.C. (D) 92 L.P.C.

Inquest means enquiry into :
(A) Cause of death (B) Rape case

(C) Assault case (D) Dacoity case

The death sentence before being executed is required to be confirmed by :
(A) Sessions Court (B) Magistrate Court

(C) High Court (D) Supreme Court

For comparison of bullets, following microscope is used for identification :
(A) Fluorescent microscope (B) Polarising microscope

(C) Neutron microscope (D) Comparison microscope

The body parts imaging can be done by :
(A) Spectrophotometer (B) N.AA.

(C) X-—ray (D) LR

D —8204 2



fafy famm
Y9TuA — 11

e : 39 IS | U (50) dg-foshedta we €1 U@ U % A (2) ek ¥ 1 |t el & S

IS
1. = ifas @em ©
(A) Hfcry =afd i argent (B) fafad =M
(C) HiRer 5o (D) Hfere g

2. fafy fagrt =1 =mea # sufafd @ g2 f=1 9 & ol €
(A) 75 Tfae TR (B) 293 HieTR dt.4t.
(C) 302 .44 (D) 92 STt

3. I T e § A i v ¢
(A) T HT BRI (B) IATEhR T HIHEAT

(C) STYANT 1 HIHE (D) ol T HHET

4. Y TUE HI G NIRA A F & T kT it smaves ©
(A) T =R (B) HfSRge =Immerd

(C) = AT (D) S=AH R

5. goie &l gl wd ufees o ford fre gemeet 1 3w 2 €
(A) TARE= gawee (B) Ui qawHawlt
(Q) =g gaueeit (D) wHHRSH gaweet

6. TR % aFE! 1 UATesH 3HF 5 T4 T :
(A) TFIRIEHER (B) TATT
(C) TR (D) 3TRE.3TR.

D —8204 3 P.T.O.



10.

11.

12.

13.

14.

In Thin Layer Chromatography the mobile phase is :
(A) Gas (B) Solid
(C) Liquid (D) Vapour

DNA can be isolated from :
(A) RBC (B) WBC

(C) Semen (D) Pure water

Absorption elution technique is used to detect :
(A) Semen (B) Faecal matter

(C) Saliva Stain (D) Blood grouping

If the blood groups of father and mother is ‘O’, the blood group of offspring is/are :
(A) AB (B) B, O
(C) AB,B O (D) O

Blindness can be caused by the following :
(A) Ethyl alcohol (B) Methyl alcohol
(C) Glycol (D) Propanol

12 bore cartridges are fired from :
(A) Rifle (B) Pistol
(C) Shotgun (D) Revolver

All are detonators except :
(A) RDX (B) Mercury fulminate
(C) Lead aside (D) Lead styphnate

It is true about human hair that medula is :
(A) Always present (B) Fragmented, continuous or absent

(C) Always broader than the cortex (D) Always absent

D —8204 4
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14.
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15.

16.

17.

18.

19.

20.

21.

Dried seminal stains from clothing are preserved :
(A) as such (B) in 40% formaline
(C) in 10% formaline (D) in 20% formaline

The race of the person can be determined by :
(A) Cephalic Index (B) Pubic Index
(C) Dental Index (D) Spinal Index

Fracture of a terminal phalanx of a little finger is :
(A) Simple injury (B) Dangerous injury

(C) Grievous injury (D) Serious injury

Testamentary Capacity means :

(A) Capacity to dispose of material other than property
(B) Capacity to dispose of property
(C

(D

) Capacity to learn language

) Responsibility regarding criminal matter

Following may affect the handwriting except :

(A) Parkinsonism (B) Sanile Dementia

(C) Encaphalitis (D) Common cold

To lift foot/footwear prints the following is used :

(A) Plaster of Paris (B) Ninhydrine powder
(C©) Milk (D) Alcohol
Assertion (A) In case of disputed paternity, blood groups and HLA can be

used for the exclusion of paternity.

Reason (R) : Because appearence of blood groups and HLA in offsprings are
determined by Mendelian Laws.

A) Both (A) and (R) are true

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
) (A) is true but (R) is false

D) (A) is false but (R) is true
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22.

23.

24.

25.

Assertion (A) The volatile compounds can be analysed by GLC.

Reason (R) : Because volatile compounds gets precipitated with inert gas in
the column.

(A) Both (A) and (R) are correct

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) Ethyl Alcohol forms metabolite formaldehyde in the body.

Reason (R) : Because formaldehyde is the metabolic end product of Ethyl
Alcohol in the body.

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true

Assertion (A) DNA can be isolated from a living cell of the body containing
nucleus.

Reason (R) : Because nucleus contains DNA.

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true

(©) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) The range of fire can be determined by the spread of pellets.

Reason (R) : Because shot gun cartridges are loaded with multiple pellets.

(A) (A) is true but (R) is false

(B) (A) is false but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are true and (R) is the correct explanation of (A)
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26.

27.

28.

29.

Assertion (A) : Medullary index can differentiate human hair from animal hair.

Reason (R) : Because the scales are of the imbricate type.

(A) Both (A) and (R) are false

(B) (A) is false but (R) is true

(C) Both (A) and (R) are true

(D) (A) is true but (R) is false

Assertion (A) Presence of spermatozoa do not confirm that the fluid is semen.

Reason (R) : Because spermatozoa can be present in many body fluids.

(A) Both (A) and (R) are false

(B) (A) is true but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true but (R) is not the correct explanation of (A)

Assertion (A) Finger Prints identifies a person conclusively.

Reason (R) : Because finger prints can be duplicated in 1 in 10,00,000
population.

(A) Both (A) and (R) are false

(B) (A) is false but (R) is true

(C) (A) is true but (R) is false

(D) Both (A) and (R) are true but (R) is not the correct explanation of (A)

Assertion (A) Premolars replace the temporary molars.

Reason (R) : Because there are no premolars in the temporary set of teeth.

(A) Both (A) and (R) are false

(B) (A) is true but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true
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30.

31.

32.

Assertion (A) : After 1—2 hours of death the muscles become rigid.

Reason (R) : Because of the onset of Rigor Mortis.

(A) Both (A) and (R) are true

(B) (A) is true but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true but (R) is not the correct explanation of (A)

Match the instruments with the material analysed :

Instrument Material
(a)  Electron Microscope (i) Bullet
(b)  Electrophoresis (i) Alcohol
() GLC (iii) Hair
(d) Comparison Microscope (iv) Blood

(a) (b) (c) (d)

Match the name of the scientists with their specific subject :

Scientist Subject
(@) Alec Jeffery (i) DNA Profiling
(b)  Francis Galton (i) Toxicology
() A. Curry (iii) Serology
(d) B. Dodd (iv) Finger Prints

(a) (b) (c) (d)
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33. Match the ammunition with the firearm :

Ammunition
Cartridges with pellets
Rimmed cartridge with bullets
Rimless cartridge with bullet

177 slugs
(a) (b)
@) (if)
(ii) (iii)
@) (iv)
(ii) (iii)

Firearm
(i) Shotgun
(i) Auto—Pistol
(iii) Air gun
(iv) .303 Rifle
(c) (d)
(iii) (iv)
) 0
(ii) (iii)
M W)

34. Match the antigen with the respective blood groups :

Antigen

B

A

A, B

No antigen
(a) (b)
(i) @)
() (1)
(iii) (i)
(iv) (@)

Blood Group

i A
i O
({ii) B
(iv) AB

() (d)

(iii) (iv)

) G

) G

i) (i)

35. Match the instrument used for the analysis of poison :

(a)
(b)
(©)
(d)

> o8

goZ

D —8204

Poison

Anesthetic agent

Alkaloids
Tranquilisers

Heavy metal

(a) (b)
() (i)
(i) (i)
(i) (iv)
() (i)

Instrument

i) A.AS.
i) GLC
Gi

(

iii) Soxlet

iv) HPLC
(c) (d)
(iii) (iv)
(iv) ()
() (i)
(ii) (iv)

14
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36. Match the Permanent teeth with their age of eruption :

Teeth Age of eruption
(a) First Molar (i) 11 years
(b)  Third Molar (i) 12 years
(c) Canine (iii) 18 years
(d) Second Molar (iv) 6 years

(a) (b) (c) (d)
(a) @ i @) (W)
B G  (v) (D) (@)
©  Gv) (i) (@) (i)
(D) () (@) (i) (i)

37. Match the exhibits with the Analytical Division :

Exhibit Division
(a) Firearm (i)  Biology
(b) Hair (i) Ballistics
(c) Disputed signature (iii) Documents
(d) Poison (iv) Toxicology
(a) (b) (c) (d)
(A) (i) (i) (iif) (iv)
B) @ (i) (iif) (iv)
(©) (i) (iv) (i) (i)
(D) () (i) (i) ()

38. Match the marks with the causative instrument :

Marks Instrument
(a) Sliding Marks (i) Hammer
(b)  Static Marks (ii) Screw Driver
(c) Radial cracks (iii) Vehicle
(d) Tyre Marks (iv) Bullet
(a) (b) (c) (d)
(Aa) @ (i) (iv) (i)
B) (i) @) (iv) (i)
© () (i) (@) (1)
(D) () (@) () (i)

D —8204 16
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39. Match the year of establishment with the respective Central Forensic Science Laboratories

in India :
Year Laboratory
(@) 1978 (i) CFSL, Kolkatta
(b) 1968 (i) CFSL, Chandigarh
(c) 1957 (i) CFSL, Delhi
(d) 1970 (iv) CFSL, Hyderabad

(a) (b) (0) (d)
(A) (i) (iif) (i) (iv)
B O (i) (i) ()
(© (i) (@) (i) (iv)
(D) (v) (i) (i) (@)

40. Match the offence with the section :

Offence Section
(@) Murder (i) 304—A IPC
(b) Fatal Vehicular Accident (i) 302 IPC
() Rape (iii) 307 IPC
(d) Attempt to Murder (iv) 375 1IPC

(a) (b) () (d)
A) (i) (i) iv) (i)

41. The chronological order of the incidence of types of finger prints is :
A) Loops, whorl, composite, arch

B) Whorl, composite, loop, arch

C) Arch, composite, whorl, loop

D) Loop, arch, composite, whorl

D —8204 18



39. YRaad # fafve s fafy fomm smTemeTedt 1 3o Temo o § foa sifs
L JARTITTET
(a) 1978 (i)  HSEII JANTICAT hIcTshIdl
(b) 1968 (i) R TN TG
(c) 1957 (iii) h=ra FERTIeN feeet
d) 1970 (iv) T TR SSUae
(a) (b) (c) (d)
(A) (i) (i) (1) (iv)
B @ (i) (i)  (iv)
Q) (i) () (i) (iv)
(D) Gv) (i) (i) (i)
40. 3TIY TAT IUh! U H FHAM Ao
JTUTE T
(a) T (i) 304—T STE.ULE.
(b) TIHRE AT ol (i) 302 3TE.d.E.
(c) WATEHR (iii) 307 3.9
(d) T 1 FAH (iv) 375 1.9,
(a) (b) (c) (d)
(A) (i) () (iv) (i)
B @) (i) (i) (iv)
© (i) (iv) (i) (i)
(D) (i) (i) (i) (iv)
41. 3iTfa fo=di % YR % U ST % SR W HH T YHR R :
(A) M, =, HHISE, 3=
(B) =, HHINE, @Y, 3TH
(C) T, HEIfSe, 5, T
(D) U, 3T, HEIfSre, St
D — 8204 19
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42.

43.

44.

45.

46.

The sequence of examination of blood stain in chronological order is :
(A) Benzidine test, Haemin crystal test, Immunological test and Elution test
(B) Immunological test, Benzidine test, Haemin crystal test and Elution test
(C) Elution test, Immunological test, Haemin crystal test and Benzidine test
(

D) Benzidine test, Elution test, Haemin crystal test and Immunological test

Chronological order of post—mortem changes after death is :

A) Loss of reflexes, foul smell, adipocere and hypostasis

(

(B) Loss of reflexes, hypostasis, foul smell and adipocere
(C) Adipocere, foul smell, hypostasis and loss of reflexes
(

D) Foul smell, loss of reflexes, adipocere and hypostasis

Sequence of events in firing in chronological order is :
(A) Pulling of trigger, Firing pin hit, Powder burning and Projection of bullet
(B) Firing pin hit, Projection of bullet, Powder burning and Pulling of trigger
(C) Pulling of trigger, Firing pin hit, Projection of bullet and Powder burning
(

D) Powder burning, Pulling of trigger, Firing pin hit and Projection of bullet

Distance travel by the firearm discharge in chronological order is :

(A) Burning, charring, blackening and powder tattooing
(B) Charring, blackening, burning and powder tattooing
(C) Blackening, charring, powder tattooing and burning
(D) Powder tattooing, charring, blackening and burning

In the analysis of poisons, the sequence of events in chronological order is :
(A) Extraction, group tests, tissue homogenisation and specific tests
(B) Tissue homogenisation, extraction, group tests and specific tests
(C) Group tests, tissue homogenisation, extraction and specific tests
(

D) Extraction, tissue homogenisation, group tests and specific tests

D —8204 20



42.

43.

44.

45.

46.

TH o ¥ss o &I 1 HeAThe | B ® ¢
(A) S=IEH T, HH FBhEd 2%, SRAlShel S8 To 3093 <&
(B) THEAIGINGA I, I=ieH &, THH fied 3= w6 soger 3w
(C) TPRM X, TAICISohel <8, BHIH Fhed o Td d=iieq &
(D) d=HEH 3%, 3RM <R, g Fed 3w W sRHI e ¢
T SRI Ufkerde =1 a9 ¥ B €

(A) TEUfIEHAT & oI, Y, TS Ta gRdefad

(B) TEfdha skt ], BRI, i wd TEarH

(C) TSI, g, BEuiad Td wyfihar # wHl

(D) T, Tfafhal &t HH, TS T Feuefad

et § sereti &1 A = ey H e R

A) ToR Tam, wEfeT = &1 =ie, gee Sl Ta 9ol i b
B) R A &t =g, Jere o1 fMehar, qrael o wa foR <o
C

foR <@, wEfeT f= 61 =i, Joie &1 e @ geet e

(
(
©)
(D) e ST, TR gam, wEfeT i &t <ie td Jeie &1 e

AT % Tewarst 71 FIeh ¥ g o7 ohea € -
(A) 9, =fi, s TE greret g

(B) I, STehf+, ST TH qEe 25T
(C) AR, =M, qEE S TH A1
(D) TIEET ST, =AM, selsh{1 T &,

fordt o fagerooT # SEATT S HIeTTHY H 39 THR € :

A) THIRM, U &, oy SesEsRe T wfafres T
B) fexy EISIIESIeA, TAgaRM, U o Ue Sfifes o=
C) U e, fox) AMSATESRT, THRM T Wfafrs o=

(
(
(
(D) LR, fey] BHISHESH, J4 2R Td Wit T
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47. The incidence of blood groups in Indian population is in the following sequence :

(A)
(©

A, B, O, AB (B) O, A, B, AB
B, O, A, AB (D) AB,O,B, A

48. The reliability of marks of identification in their chronological order is :

(A) Anthropometry, dental data, blood groups and dactylography

(B) Dental data, anthropometry, blood groups and dactylography

(C) Blood groups, anthropometry, dental data and dactylography

(D) Dactylography, blood groups, anthropometry and dental data

49. The sequence of examination procedure for identifying bullets with the suspect

firearm is :

(A) Fire test bullets, Identify class characteristic marks, Identify individual characteristic
marks, Match class and individual characteristics.

(B) Identify class characteristic marks, Fire test bullets, Identify individual characteristic
marks, Match class and individual characteristics.

(C) Fire test bullets, Identify individual characteristic marks, Match class and individual
characteristic marks, Identify class characteristic marks.

(D) Fire test bullets, Identify class characteristic, Match class and individual

characteristic marks, Identify individual characteristic marks.

50. A 35 years female was found burnt in the kitchen. An empty can of Kerosine with little
quantity at bottom was found nearby. Match box and few sticks were found on the
parapet. She had sustained 100% burns. Black soot was present on the body. Smell of
kerosine was observed. Pugilistic attitude was present. Burns from superficial to deep
were present on the body. Soot particle were present in trachea. Carboxy haemoglobin
of 15% concentration was reported on analysis. No evidence of mechanical injuries
were observed on the body. The room was bolted from the inside.

Considering the above findings answer the following :

The cause of death was :

D —8204

Antemortem Burns
Post mortem Burns
Asphxia due to soot

Carbon monoxide poisoning
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47. 9RO SHEE H 6 98 6 TH 9T 6 Hen 39 BT § T
(A) A, B, O, AB (B) O, A, B, AB
(C) B,O, A AB (D) AB,O,B, A

48. e fowe ST fovagHiaar & MuR W =1 FAHa H 21 ¢ :
(A) TYOHSA, ST e, sle P4 Td SRIAUTH
(B) = e, THUMUHS, i€ U Td SHIATR
(C) =T€ U, TS, el el Td SRIAUTh
(D) SHIAUTHI, € P4, TUUHST T e el

49. dfgry sreEre § fehelt gere @t ufea & fod f s arel adteror =0t fafy sa 69 4 &

(A) T Joie RN hY, FAT hiaei e Wi dfegam, SAfdTa fafie A afeam, Fa™ @
b fordivand et i

(B) T kG A Ufgd, 3% Soie WRR o, AT fafie A afeamr, Fa™
b fordivand et i

(C) T Foid ®IRR &, AlHTd [afew o ufg=am, oot safbd fasmaand e+,
FAT P AR dfgem

(D) T oI HRR h, FATH g T Ul Fard Td sfhiTd famand e =,
AfeTa fafime A afgem

50. U 35 1 Afger TIEeR H il g2 I T | gl & It ol U e A<l A afed ol &
IR TR Y IR Wi 991 @ Hich 98 TS | S8k TR 100% STl 9™ &1 | IR W

SHifer@ 18 T8 | hUEH i 7Y el | HfSfafes wiegs @ e IR W gRwiEa |
TR T STl U T3 | ikl H hifer@ o 1 U T3 | TaeeiooT i W 15% i |i=dl &l
et feAreTor 9 T | IR T =9I o g 9 T8t 9 A et 9 o off |

SIIE AT Pl A H W g A 1 W T |
g 1 HRT 1 :
(A) T g S
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Space For Rough Work
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